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Marmara University

INTERNATIONAL STUDENTS’ EXAM
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In the following question, find the figure whichs

the question mark (?) stands for in the given
matrix.

In the following question, which picture cube
does the given shape form?
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figure sequence.

In the following question, find the figure which
the question mark (?) stands for in the given

2 |3 |5 |6
7 ?7 07 |11
15 | 7 |18 |19
20 |21 |23 |24
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In the following question, find the number which

replaces the question mark (?) and completes
the sequence

S} 6
5 2
4 5
3 15| 4 4
5 11
9 3 .
3 6 8 |11 2
4 3
4 ?
A3 B)4 C5 D6 E)7
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I Il
T|o[s|P]| | f 4516
Rlo|T|P 6254
PlTs[r] | 5214
4326
PIE [O]|R 356
Elo|T|R “
f
TIP|R|O| = 2
A) 1256 B) 4263 C) 2643
D) 5462 E) 3524
3,9 1,11 0,03
—_+ —— + —— =7
1,3 0,37 0,015
A)3 B)5 C)6 D)7 E)S8
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(m+n)(m*—n*-1)! )
[(m—-n)(m+n)]!

1
A) o B) o C)oin
1 1
D) (m-n)! E) m-n+1
6 -3 =3 = x=?
2" -1

A)-2 B)-1 C)0 D1 E)2

J3-+2 4111642 =2

) 8
E) V14

A Y7 B) 1
D) /7
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A={1, 2,345,867 f(2+1)=4"-1
B={1, 24,5} f(x+2)=’7
C={567}
2 2
CU(A-B)=? A) x(x=2)  B) (x-1) c) x° -1
D) X’ +1 E) X(X+2)
A) {1, 2,6,7} B) {1, 2,3,5,7}
C){5,6,7} D) {1,2,3,56,7}
E) {3,5,6,7}
3x* —2x+1=0
9x2+—%<:?
X
7 5
A) —— B)-2 C) ——
) > ) ) 5
D) 3 E) 1
2 2
If P(x) is a polynomial,
(x2+1)P(x)=ax3+(b—2)x+a—1
a-b="7
A)-3 B)-1 C)0 D)1 E)3
X+2y+2=5
2X—-y+z=17 = X+y+z2=7?

9x+2y+6z=40

A) -7 B) -3 C) 0
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.2_
I"=-1 0<x<Z
2
z=2-3 = |z+w|=? 1-cos2x
w=1+2i ' V1-sin? x. (Tj.cosedx:?
A) /2 B) V10 C) 13 . L
D) 16 E) 23 A) 5 B) 2 01
D) 2 E) 1
3
. 1
SinX-cosx ==
4
sin® x +cos* x=?
A)§ B)§ o) Z D) i B L What is the soIthion set for the following equation?
4 8 8 12 12 sin83  —c0s23 |_,, 1
cos83 sin23
3
N0 B {g} o (1)
3
D) {= E) {1
3 ey
sin15° tan105°
+ =?
secl5° cotl5°
3 1
A) -1 B) —— C) ——
) ) 4 ) 5
D) 0 E) L
4
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P +2° 43+ +n
m

| — =7
we 7(nt4n?+)
1 1 2
A) — B) — c) =
)42 )21 ) 7
21
D) — E) +o0
) . )
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(\/16 —x? —\/§x)dx =?

T T

A)E B)E C) 7«
T T

0T 9%

2
I|:Sinl+COSl:| dt="?
2 2

A) t+cost+cC B) t—sint+c
C) t—cost+c D) t+sint+c

cost
E)t+T+c

|AB| = |ED|,|BD| = |DC|
m(DEC) =?

A)20 B)25 C)30 D)45 E)60

2Ucegs@ uniland.ir

A
8

Alxy) Alxy) = ?
4

»
8 z\
A)(-2.6) B) (-1.6) C)(-15)
D) (-2.5) E) (-2.4)



